Solving ratio problems strategy #1 - Proportions



The ratio of boys to girls in a class is 3:2. If there are 12 boys, how

Ido many girls are there?
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he ratio of boys togiris/in a class IS 3[2Z. there are 12 boy

Q

nany girls| are there?
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At discount books, 4 paperback books cost $14. How much would
Ido seven books cost?
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The total number of students enrolled at Berkmar Middle School if the ratio of
We dO boys to girls is also 3 to 4 for the school, how many students are boys and how many students are

girls at Berkmar Middle Schoot?— V200
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he total number at students enrplied atj Berkmar Wiiddle Schaol 15 1,400|students. If the rafio ot
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girls at Berkmar Middle Schoal?




You do together
on wiaitedeaard j Ca P~ PA(
The ratio of cats to dogs at the pet store is

6:5. Ifthere are 55 pets at the store, how
many are cats?

_You do alone on
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| found a sale on pencils: 20 for $2. | need to buy 110 pencils.
How much will it cost?



